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SUBJECTIVE PROBLEMSEXERCISE � III
1. A
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Reading = L.S.R. + C.S.R. x L.C.
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7. D
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= 2 x 512 (0.1+0.1)

= 512 x 0.4

= 204.8 cm/s

8. L.C. =  0.1 mm

Reading = 10 + 1 x 0.1

= 10.1 mm
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10. C

L.C. = 
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= 0.01 mm

Z.E. = 0 + 5 x 0.01

= 0.05

Reading = 2 x 0.5 + 25 x 0.01- Z.E.

= 1 + 0.25 - 0.05

= 1.20

11. D
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So least error is in D.

We can also see that amplitude is also less so it

is more closes to S.H.M.

12. B

13. (A) P, Q; (B) R, S; (C) R, S; (D) R, S
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16. C,D

17. A,C

18. D

19. C
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 hence both contribute same

in error


